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ffunu.ru ,"n"ol1_-y-::l151il- ::::T: "#nl,,uuuri.,ce1r

ffii$na"rftn'ru $au fial
r$'arsnmaueH:fludurlcrntriuSnaqsrsudne{u.z}

3qq: ffrf;naqo *hr;u 2(ll 4'2015 saaq e0 ulfi

sir uuu:-iq : ?ut:Yna.J'u ef,an e0reirnaufinr:etfi q or"; f dn;c mdoq;ud (n), (e), (fl ) fi (9)

;r rr.rfi t Fisnt,i? # s'is ri1 il au'

t. ffnm3fi-u,ffi:,fir,ffiuufiaanciaunarurh3digei'r t{roaq LOs Ser*r"tu\a20m/s, euuetaa6]

:fu$ntr.it6ffneefra'i

(rr) 10 rn. (z) 20 m^ (n) 50 m,

z. #flffaqrnt,.rufl, dcunoruiauirEn 15nr7/s(ivntsLteUu,yuI l5ufi'r-.,trilrfiu, t{eaaT

.D ^ e L ^ #- -.----.q,-o-^o---9--,
2 s r,r.ruE 3firtff r,. \ a u urn13 [1 lua c :lJa rl 1'Ulsn#!utlseteiilU[lq1 t n'1

(n) 15 m, (a) 20 m. (o) 25 m. (9) 30 m,

3, Dvuvtcar 7 tu1 oo irflrrtuL*r,.,aro{,S,eiarfieiaurtaquta 40km/h e,jt:aoqqff n tr.l

5115uqrfi e flttirE:rY:: 2rJ km. flettuisrYL1e.i.tuaoqqfr e eaarffntul?

(n) 7 Jlf 10 u.rfi, ie) 7 ):;3 20 u"rfi. (n) 7 Il: 30 rrfi. (-1) 7 tu1 40 u'rff.

+. SnquuiiStfrsufimEu#ufl"^: 5- = 1012 [m1. quarnarutcs"sair-rruqutusurfi 17 : l3i6iltnz

(n) l0 m/s. {e) 2.n m/s. (n) 30 m/s, (3) 50 rl1s,

5, nrufinm ruriruYl ur:!nl)-l rfreufi fi uu?cr?

(n) f;aueffi. 1a) flrj;uerr15 (ei) fre5lmvrdi' (:) *e'lsuausrfi'

O" ScrgrffiSffnrrrudruY3 ,rnfr'1anfin l{ranq z s E1flnnurrflufrl,fiuflrfi. fl1ertfin$:ifirtnt

(n)h=Srn, @)h:10m. (fl)h=15m' (:)h=ZOm'

z. i6utdee6t 1B ru qufiofirsi,aj,..,ff, eefin ,r fruisfic B (rau B fi'ueefra c tfr#ieuihtur

A ,. nur-rilru11:ue:r#rytff. rcrSnufi'uaa35nq C tm n ffrfirtnl

(n) ,1 N. (a) 6 N. (rr) 14 N. (3) 18 N.

a, illfiaffiJcrJdtu",o.f,erfielailriaueratu\c ',!,Amf s, ri'ixi"r'Jvficrqnq k = 0,5' 5?nuru
'Iau"r.n,rgduhqrr#S'nnelUerdcuaaurh3fl3erq terufifrufl$nraeisaneqneulv'fr'fi?

(n) 20 m. 1z) -10 m, (n) 35 rn, (t)

q" f; i6ufi lr:'aire-lurfi ntiic-r Bn K : 5 0 tu/nr, ifr a rHntriu-r fl ossn\ {+EJu

uacl 5ng;i,uaumqu ifr qi n? xi t
(n) m = 33,34kg. Q) m '= 7 5 kE, (er) m =' 0,75 kg' (:)

(::) 100 m.

40 m.

Al : 0,15 m. tnn'e3

m = 0,003 kg,
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10. neuu4luirIol-rf;'lr{enijnrenca1ue&iauln'rUrsu53r?rmluulruJ]fi']fr. erarr,rilsjrhlEBl
o i' 

rmailfrELfiutrJo:quen?a?Iq Bn Itnu fi 0 [[ uL m8ljnE Liulu ( u0J"tll',

i.
"4'" 'i, (n) A. (e) B, (rr) C, (l) D,

.tr
.E

I l, ri"r#11ruea3ffng fintdeice:ee uucflter?

(n)p=I, e)p:;. (er)p=Fr," qSyF=iifi.

12, tfiagtneinSnq nr = 800 t<g EL4f s m t'isaar 40 s. rir#55,ru*a3cfrm1{'nrsuldto'l

(n) 0,1kw, (s) 0,5 kw. (n) 1kw. (3) 1,5 kw.

13. lrailffi11J 'n't, = 3 ks frnfi:frauncueeaSrirJ"JuerrlS F = 50 l.l #uifrryu"i:rn:-J: ;0" nlu#u

aorustr. SouYu\6 s = 1,5 rn. 6[E!!6]1,rss36rcluiiEJ [rau re s1lrudaluUn"ffifr"rtnt

(n) 75 h 22,51, e) 751; -22,s1. (n) * 75 l;22,5 ]. (3) 75h * aSI.

^"iirnl 4. n:auua a 1 et n :; ii U uculJth c ur: a u rir f1 3,r u ?
,u

(n) HP (mr1u"ri. (p) W" (er) I.s. (l) Nm/s.
,,.,-1,^-rt:, uiautlffiSffraumru m = la kg ffneeriernruqarffnc{auaarulHs Z mlsz \e-ltn Z0 m,

eiquufi nsnur1ufiu rrJr 0.4 ur39,r:rfr?{erriursut Jdufisfrrtnr
(n) '1168I, (e) Djaj, (s) i'#a l. (1\ 12451.

15. airf;'uuuf;urutnrneruefluovfifid",fre, e$asraEr#rsfru8u z tfin g&u Eumuruuzrr*b
91qJ

o @ ^ oo ' io
[uJUeu 2 Etrll ual]']oquLu)uzLa'l

(n) 0ur.;reerJS (a) per$l + rfir, (n) sfr.uflu z efic. (f) rfrl,#u + rfr{.

17, auzruruu -30"C ffrirefrEters3mrrenu8r?

(n) 303 K. (z) 2+0 K" (6r) 210 K. (:) 65 K,

ts. #u€utnuyefrauilEernlu*rt nc x : Ssln(1oonr; finetJu cm ffncrufrsfrqtnt
(n) f =Laaidz, (a) f =50rHz. (o) f =5H2. (:)/=la6z.

19. aolnru#ltncfliryascutin"0#'lfru x, : 4 cos(L}0zt) cm u.ru

xz = 3ror (l0ont * 1).,n ffufrriirtnaHlacufrtaurr-r"Jrefi"rtnz

(n) 5 cm, (z) 3,5 cm. (n) 1cm. (1) 7 cm.

20. erSfreUnTulurerde:rtxi,Lreleffn, rj'3nrnrYr : s *:Yelfiua"iSaoria:.:#3u"rr"rilui.r0J"r.

?rfi #mc rut D Eal eJI 60 a rrfu m,-j, 3 5 0 rn/s, uilrmrunSsrndeu ff rfi n rfr rtn?
(n) 510 m. (e) 515 m, (or) 520 m, (5) 525 m,

21. Ao3ln M unv tt q,i'nrr3erna"lututfrfi,frnureraluldqfiaue3qL, tautut'itesri fil uryrmlu

tultrnejndq 2 ;{nt\auv,.nr3rrri N urrsrutui fl3u;uq1usuu1r6ttr,6locuxufratstrurffinejer:

M uau N.

(n) rfi = z. (p) ff = +. (n) X =:, (:l |ff: i



22. flqu\ilIf; era* uqc$n*sesYertulqu6il&i"ltj 2A A, flo'lJ-isortauuurs:icffnqilo n'l ui"r9n'rn

mre"rYuj 5 crn iieum"lfiefrEtn?

(n) 8.1.0-5 T. (e) 8n:. 10-s t. (n) 4"10-6 T" (:) 4n. 10-5 T'

23. eJ1atrn.l3ae3ffi-la,trlquriufnaEuefrrrnoualuJuit 5A .EeraT ue'or,frsuuusffin 3t,+.l'0-6T'

r#u e,i'rt e:ll : * e r i'3 fi.l *e rj" #? n t
(rr) 10cm" (e) 20cm. (u":) Z2cm" (3) 25cm'

24. flaSrrertutril'rfll {r = SFrC 6[ilv E, = +\2!dar3Eietnto, tri"r'Jfru r/ = 10em "

fri od)u rs s 3 :rsfiu * : fi'r.r rs e u fii.re s3 ae, rilot u.lailffiEi.r rgi-]t o l.
(n) fl, =4r = 60N. (a) 4', =4, = 54r.o, (n) fi, =fzr "= ?5N. (:)fl, =4r = 45N'

25. orleryatatuT-rz]uX Q = +r0 gtC tuarnrn. 'i\gintdu,n'li.j,#uea:rfr':\urfrt r, {1avi
uir-"rn"rn Q tauv r' = 1C cm"

(n) 8., = 5.10,' Vim. (Z) E, = 20.106 v/m. (n) Eu = 2.106 v/m" (3) E, = 9.tr06 V/nn.

zo" sita:rfieu\dulrsuutirilrra.ruuraututuir 0,5pF tfi$tsifiunuaufiL.r\trttil'r 220v, e*e3meu

t ul rI lffe o a'i JJ 
q n e ilut uJ il'rfiu 1t f t-nQ #': f

(e.r) 1x i.0-6C. (e) 4,4x t0-4C. (a) t,lx 10-4C, (:) 2x 10-5C.

27. a.ruta*"uti3ffi$*fi,frr#orfro s, .acle;rc I, ararusrlu'tuJui"! a. frrs$efituil1cr'nur;urUu

S.S, ae3eloeo3a"ruu;urUu 3I. ercluei",uttUfiI a' eal&t€Jtsul"tm.0si'icfr'rto?

(n) a,=4, (z)a'=9. (ar)a'=f. (3)a'=g'

(a) fs = 2lz.

(g) zI"R = /zI(.

2R

(n) 40 FIz. (e) 50 Hz.

30. saudurfi3ffdrrnT eragrF,n rr = 1,5 fl
r c"o

asJtauffiJuelei'i

(n) 10 cm. (e;) 20 cm.

28. S3eautrrlrl.rrjb:SserSefraututui"r f rcau u:aruqiTrttdd'rurru?:.rr#rq,r. r[uu#:,-?frn*u:

uriud?eit

(n) 11 -* .

(a) /z = Ji "{- /:r'

29. 53 n er:t ut ui'la uffu fi ffn o u at uilrt.l; 
"r 

ts tl 3 m ruf,'u$u

t utaiir m v ft'u#iisfii*1., a

i = 74,'1 Asiin 376,8r(A). noquhlno' [[ m

(a) 50 Hz. (9) 70 Hz.

uficaan?f:ae1'Dfferauffi R, = ftz = 20 crn' tauvqu

(n) 30 cm. (3) 40 cm"

n u u ari'i rrun'xl e0 tTtta $ct



* siqstau f;qq: fi€naqn, Su#nnu$uffinmegauil'rar(u.7)

og afilmsu trIUffiUU
eg riqmau FIU ITIJ:.J

I (:) 1 16 (n) I

2 {n} i tr7 {n) I

n {er} 1 18 {:} 1

4 (:) 1 19 tn) 1

5 (sr) 1 20 t:) I

6 (:) 1 7\ (sr ) I

7 (n) 1 22 tn) 1

8l(3) 1 23 te) 1

9 tn) 1 24 {e) 1

10 {s} 1 75 (:) I

11 ta) 1 26 t (sr) t

l2 (n) 1 21 (m) 1

13 {a) 1 28 (l) I

14 ter) 1 ?9 (a) 1

15 is) 1 30 (a) 1
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